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QUESTION 1

Next to the printer\\'s specifications, what would be of importance when selecting a greener printer? 

A. A printer duty cycle comparable the printing needs of your office 

B. A printer duty cycle higher than the printing needs of your office 

C. A printer duty cycle lower than the printing needs of your office 

Correct Answer: A 

 

QUESTION 2

The paper manufacturer you buy paper from works with The Forest Stewardship Council.What does this mean? 

A. The paper aligns with responsible forest use. 

B. The paper is only made of new fiber from trees. 

C. 50% of the paper\\'s content is recycled. 

D. 100% of the paper\\'s content is recycled. 

Correct Answer: A 

 

QUESTION 3

A memo from management announces that the printers are to be consolidated. What is a valid reason for this decision? 

A. Having less printers contributes to an energy cost reduction. 

B. Having less printers will encourage employees to walk more during the day. 

C. Having less printers will reduce polluted air in the office. 

Correct Answer: A 

 

QUESTION 4

What is a main source of power costs for e-mail? 

A. Reading e-mail 

B. Saving e-mail 

C. Sending e-mail 

Correct Answer: B 
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QUESTION 5

You have been asked to select a new greener printer for you office. You have made a selection of printers meeting the
Energy Star ratings. What could help you further narrow your selection? 

A. Rank the printers by their speed. The printer with the highest speed is greener. 

B. Seek for manufacturers offering discounts for recycling the ink cartridges. 

C. Select the printers that have a power saving mode. 

Correct Answer: B 

 

QUESTION 6

What does the operational cost of a printer include? 

A. Electrical consumption, ink consumption and service levels 

B. Electrical consumption, paper consumption and ink consumption 

C. Paper consumption and ink consumption 

Correct Answer: A 

 

QUESTION 7

Which IT alternative(s) can help cut down travel expenses? 

A. Electronics documents 

B. Telepresence 

C. Virtualization 

Correct Answer: B 

 

QUESTION 8

What is true about screen savers? 

A. Screen savers cause a computer to use more energy than switching off the monitor. 

B. Screen savers save on energy by putting the monitor in sleep state. 

C. Screen savers using a bright, colored background use the same amount of energy as with black backgrounds. 

Correct Answer: A 
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QUESTION 9

What does sustainable development mean? 

A. To create a balance between the demand for timber and the maintenance of the health and biodiversity of the forests 

B. To make use of renewable energy in order to reduce greenhouse gas effects 

C. To meet the needs of the present without compromising the ability of the future generations to meet their own needs 

Correct Answer: C 

 

QUESTION 10

What should be taken into consideration when your company facilitates working remotely? 

A. Remote workers need faster equipment than workers in the office. 

B. Remote workers need instant messaging tools. 

C. Remote workers need to feel part of the whole. 

Correct Answer: C 
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